### Pay Estimate Created Date: August 1, 2023

Progress	Estimate N 6	umber	Contract Prime Co		220715-6 or Pace Col	301 nstruction Company			lune 2, 2023 August 1, 20	23 Net Ch	al Contract A nange Order nt Contract A	Amount (\$39	9,610.74)	
Approval [	Date											E	By User	
August 1, 20	23	Generated and Approved (and should be considered Draft) at the Project Office Level by											ford	
August 1, 20	23				Reviewe	d and Approved (an	d should be cor	nsidered [	Draft) at the	Resident	Engineer Leve	el by	baxtem	
August 3, 20	23					Reviewe	d and Approved	d at the C	entral Office	e Controlle	ers Office Leve	el by	ramses	
Original	I Completio	n Date	С	urrent (	completion	n Date Act	ual Completio	n Date	%	of Curre	ent Contract	Amount Com	plete	
Ju	une 30, 2023	}			e 30, 2023		May 17, 2023	3			100.009	%		
		Contra	ct Informa	tional I	Dates			lestones						
Date Des	scription					t Completion Date	No Milestone	es Exist fo	or Contract					
Acceptance	•	eg.												
Awarded Da		August	3, 2022		August	3, 2022								
Letting Date		July 15			July 15									
0	roceed Date		18, 2022		-	18, 2022								
Open to Tra		May 10			May 10									
Work Begar		April 7,			April 7,	2023								
0		1 /												
Contract To	tal Pav For	Estimate	eNo.6											
					This F	Estimate	Previ	ous			To Date			
	Incentive Disincentive Liquidated Damage Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	1	\$0.00 \$0.00 \$0.00 \$0.00 \$2,144,167.99			\$0.00 \$0.00 \$0.00 \$0.00 \$2,150,408.53					
Contract To	tal Payable	This Est	timate:		\$6,24	40.54	ΨΖ, ΙΞ	4,107.33			ψ2,100,400.	55		
ems Paid Tl	his Estimat	e Period												
Project Number		ne nber	Item Code			Item Description	Unit Unit Price			Current Installed Qty			Current Installed Amount	
JNE0163	00	80	6224010		FIED COLE SITIONS)	DMILLING (DEPTH		SQYD	\$25.000		194		\$4,850.00	
Project JNI	E0163 - Tot	al											\$4,850.00	
Overall - To	otal												\$4,850.00	
ontract Adj	<u>ustments T</u>	his Estin	nate											
o Contract A														
ine Item Ad														
	line No.	Item Des	scription	Δ	djustment Type	Other Item Adjustment Type	Comments				Adjustment Quantity	Line Item Adjustment Unit Price	Adjustme amount	
INE0163 0	WAT	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS				Retroreflectivity Adjustment							\$103.0	
0	WAT	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS											\$1,287.	
	MA													



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
NE0163		Pavement resurface	T,MM,CC,N	MONTGOMERY	from Rte. 161	to Rte. O in Lincoln County,	Rte. MM in Montgomery County, and					
JNE0163	Job Numbe	ers		Thi	s Estimate	Previous	To Date					
		Posted Item Pay Gross Item Adjustments Gross Item Pay			850.00 390.54 <b>240.54</b>	\$2,294,530.02 (\$150,362.03) <b>\$2,144,167.99</b>	\$2,299,380.02 (\$148,971.49) <b>\$2,150,408.53</b>					
	Incen		Grossiten	\$0.1	00	\$0.00	\$0.00					
	Liquid	centive lated Damage Contract Adju		\$0. \$0. \$0.	00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00					



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220715-B01	JNE0163	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	568.00	-306.54	261.46	TONS	261.46	\$73.50	\$19,217.31
		0001	0020	4071005	TACK COAT	21,303.00	-6,491.00	14,812.00	GAL	14,812.00	\$3.10	\$45,917.20
		0001	0030	6169902	MISC.Lane Closure - Two Lane with Flaggers and Pilot Car	4.00	0.00	4.00	EA	4.00	\$7,950.00	\$31,800.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$156,342.62	\$156,342.62
				6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	6.00	-1.00	5.00	EA	5.00	\$250.00	\$1,250.00
		0001	0060	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	412.00	0.00	412.00	LF	412.00	\$5.00	\$2,060.00
		0001	0070	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	228,972.00	-37,905.00	191,067.00	LF	191,067.00	\$0.14	\$26,749.38
		0001	0080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	997.00	194.37	1,191.37	SQYD	1,191.00	\$25.00	\$29,775.00
		0050	0090	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	8,425.10	-22.40	8,402.70	TONS	8,402.70	\$90.00	\$756,243.00
		0051	0100	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,312.50	75.20	4,387.70	TONS	4,387.70	\$90.00	\$394,893.00
		0052	0110	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,270.60	132.69	4,403.29	TONS	4,403.29	\$90.00	\$396,296.10
		0053	0120	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	5,019.90	-143.94	4,875.96	TONS	4,875.96	\$90.00	\$438,836.40
	Project JNE0163 - Total Value Posted to Date as of Report Generated Date											
20715-B01 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$2,299,380.01



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JNE0163												
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	s	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	7/24/23	8/1/23	194.00	SQYD		1		2		for payment only no workers on site

The information below this line are details for Construction Signs (if applicable). No Data Available



# Line Item Adjustments by Estimate

Aug 4, 2023

Contract ID: 220715-B01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0163	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		3	May 3, 2023	SYSTEM	(\$12,422.97)	
		OTONE (B)		- Total				(\$12,422.97)	
			Material - Tota	I				(\$12,422.97)	
			MaterialCredit		4	May 16, 2023	SYSTEM	\$12,422.97	
				- Total				\$12,422.97	
			MaterialCredit	- Total				\$12,422.97	
	0010 -	Total						\$0.00	
	0020	TACK COAT	Material		2	Apr 17, 2023	SYSTEM	(\$20,181.00)	
					3	May 3, 2023	SYSTEM	\$38,709.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user fordc overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	May 3, 2023	SYSTEM	(\$38,709.70)	
				- Total				(\$20,181.00)	
			Material - Tota	I				(\$20,181.00)	
			MaterialCredit		3	May 3, 2023	SYSTEM	\$20,181.00	
				- Total				\$20,181.00	
			MaterialCredit	- Total				\$20,181.00	
	0020 -	Total						\$0.00	
	0030	MISC. TRAFFIC CONTROL DEVICES	Material		3	May 3, 2023	SYSTEM	\$31,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user fordc overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	May 3, 2023	SYSTEM	(\$31,800.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0030 -	Total						\$0.00	
	0060	4 IN. WHITE WATERBORNE PAVEMENT	Other Item Adjustment	OTHR	4	May 16, 2023	fordc	(\$412.00)	Line 0060 payment of 80% of this item and withhold 20% until retroreflectivity results are in
		MARKING			5	Jun 1, 2023	SYSTEM	\$412.00	Line 0060 payment of 80% of this item and withhold 20% until retroreflectivity results are in
				OTHR - Tota	al			\$0.00	
				REFL	6	Aug 1, 2023	fordc	\$103.00	
				REFL - Tota				\$103.00	
			Other Item Adj	justment - To	tal			\$103.00	
	0060 -	Total						\$103.00	
	0070	4 IN. YELLOW WATERBORNE PAVEMENT	Other Item Adjustment	OTHR		May 16, 2023	fordc	(\$5,349.88)	Line 0070 payment of 80% of this item and withhold 20% until retroreflectivity results are in
		MARKING			5	Jun 1, 2023	SYSTEM	\$5,349.88	Line 0070 payment of 80% of this item and withhold 20% until retroreflectivity results are in
				OTHR - Tota				\$0.00	
				REFL		Aug 1, 2023	fordc	\$1,287.54	
				REFL - Tota				\$1,287.54	
			Other Item Adj	justment - To	tal			\$1,287.54	
	0070 -	Total						\$1,287.54	
	0090	BITUMINOUS PAVEMENT MIXTURE	Material		2	Apr 17, 2023	SYSTEM	(\$696,225.60)	
		PG58-22H (SUR		- Total				(\$696,225.60)	
		(SUR	Material - Tota	1				(\$696,225.60)	
			MaterialCredit		3	May 3, 2023	SYSTEM	\$696,225.60	
				- Total				\$696,225.60	



# Line Item Adjustments by Estimate

Aug 4, 2023

Contract ID: 220715-B01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0163	0090	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	MaterialCredit	- Total				\$696,225.60	
			Other Item Adjustment	ACAD	2	Apr 17, 2023	fordc	(\$52,216.92)	ACAD Line 0090: Add \$-52,216.92 for the "price adjustment for Asphalt Cement Price Adjustment (ACAD) – Bituminous Pavement Mixture SL23-1 as selected by contractor.
					3	May 3, 2023	fordc	(\$4,501.31)	ACAD Line 0090: Subtract \$4,501.31 for the "price adjustment for Asphalt Cement Price Adjustment (ACAD) – Bituminous Pavement Mixture SL23-1 as selected by contractor.
				ACAD - Tota	al			(\$56,718.23)	
			Other Item Ad	justment - To	tal			(\$56,718.23)	
	0090 -	Total						(\$56,718.23)	
	0100	BITUMINOUS PAVEMENT MIXTURE	Material		3	May 3, 2023	SYSTEM	\$388,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user fordc overridding Payment Estimate Exception 2 on the current Payment Estimate.
		PG58-22H (SUR			3	May 3, 2023	SYSTEM	(\$388,125.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Other Item Adjustment	ACAD	3	May 3, 2023	fordc	(\$29,616.98)	ACAD Line 0100: Subtract \$29,616.98 for the "price adjustment for Asphalt Cement Price Adjustment (ACAD) – Bituminous Pavement Mixture SL23-1 as selected by contractor.
				ACAD - Tota	al			(\$29,616.98)	
			Other Item Ad	justment - To	tal			(\$29,616.98)	
	0100 -	Total						(\$29,616.98)	
	0110	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	Other Item Adjustment	ACAD	4	May 16, 2023	fordc	(\$30,382.70)	ACAD Line 0110: Subtract \$30,382.70 for the "price adjustment for Asphalt Cement Price Adjustment (ACAD) – Bituminous Pavement Mixture SL23-31 as selected by contractor.
				ACAD - Tota	al			(\$30,382.70)	
			Other Item Ad	justment - To	tal			(\$30,382.70)	
	0110 -	Total						(\$30,382.70)	
	0120	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	Material		3	May 3, 2023	SYSTEM	\$438,836.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user fordc overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	May 3, 2023	SYSTEM	(\$438,836.40)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
			Other Item Adjustment	ACAD	3	May 3, 2023	fordc	(\$33,644.12)	ACAD Line 0120: Subtract \$33,644.12 for the "price adjustment for Asphalt Cement Price Adjustment (ACAD) – Bituminous Pavement Mixture SL23-27 as selected by contractor.
				ACAD - Tota	al			(\$33,644.12)	
			Other Item Ad	justment - To	tal			(\$33,644.12)	
	0120 -	Total						(\$33,644.12)	
JNE0163 -	Total							(\$148,971.49)	
Overall - 1	Fotal							(\$148,971.49)	



There are no contract adjustments to display for this contract.